Note! 1-seater front and back foam (ba200411) from single 3-seater foam.

DETAIL A

SCALE1:3

For connecting bench/sofa (2 per connection):
Stopper plate 35x40 (ba?53039) Qty: 1

Flat Head Screw 3x16mm, Zn, (ba%50102) Qty: 2
TimeOut sofa connection bracket (ba300400) Qty: 1
Pan Head Screw 5x20, Zn, (ba%50213) Qty: 3
Butterfly Bolt M8x30, (Code: 76000049) Qty:1

CONNECTOR ASSEMBLY

44195, ba200411

SCALE 1:2
'LE(S{‘ PART NUMBER DESCRIPTION QTY.
Timeout sofa 1-seater bench seat frame,
Timeout sofa turned front leg 1-2-3 seater and Bow
2 |H-04-005-T 45°, BU15040501 4
3 Washer Steel Pleksor 5084222000 Washer M8x24x2,0 DIN9021 Zn. 8
M8x24x2,0 ba950909
4 Hexagon Socket Bolt | Pleksor Hexagon Socket Bolt 8x60mm,DIN912,Zn. 8
M8x60 1091208060. ba902310
. Pleksor 5272201004* @22mm White Plastic
5 |Glide @22mm 54760077 4
Timeout 1-seater sofa/bench, seat foam,
Timeout sofa seat, side foam HR 44195,
7 |H-04-077-FO 63200418 2
8 |H-04-080-FO Timeout 3-seater seat, front/back foam HR

Date approved:

Date created:

DIMENSIONS IN MILLIMETERS

2021-05-14| 2021-04-30 | Eeurorean ProJECTION
Approved by: Tolerance: H E L LA N D
Leine.D +/- 0,3 mm {J[ @ P.0'Box 10, NO_425% Stordal
Drawn by: Sheet format/size: Scale: Units: UNLESS OTHERWISE SPECIFIED: Last saved:
Jaanson.D A3 1:7 | mm DIMENSIONS ARE IN MILLIMETERS  |2021-05-17
Weight in grams: | Material: THIS DRAWING IS THE PROPERTY OF HELLAND AS Last saved by:
s Danel
Description: Part number/name: Revision: | Config name:
Timeout 1-seater bench, 1-seater
H-04-063-A bench with
HB04012 foam




	1-seater bench
	Drawing View3
	Drawing View6
	Detail View A (1 : 3)
	Drawing View13


